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1. Pictued beow i  schematic of the Rutherford
experiment. Which scattered a-paricle gives the
bestevidence for the nuclear atom?
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25. Consider the following notation: ;" Rn

Which statement below s corect?
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) This paricl has  mass number of$6.
) This parcl hasan tomic number of 20
@ Thisparice conains 220 neutrons
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For questons 19 2, use the following key:
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25. 1fcapper metal is a mixtre two solopes, Cu-63,

s = 62.9298 u and Cu-65, mass = 649278 u
“The molar mass of copper i 64,546 gmole.

Calelate the 9% abundances of the two isotopes of
copper. Show your work.
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